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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1. gdemef gdyey 3199 9 U3 R i Afardq: fad |

Candidate must write first his / her Roll No. on the question
paper compulsorily.

2. Wt U w aAfrad €
All the questions are compulsory.

3. Y% U H IW & TS IW-Yfew H & fag |

Write the answer to each question in the given answer-book
only.

4. T 9l # ot @oe §, 39 9ft & S U 9y & fod |

For questions having more than one part, the answers to those

parts are to be written together in continuity.
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5. T 95 & fe<l 9 ISt ®UR H R goR & Jfe / T / Aty
B W et 9T & TR o W' A |
If there is any error / difference / contradiction in Hindi &

English versions of the question paper, the question of Hindi
version should be treated valid.

6. @WUE 9 HE& 3ifeh U U9
A 1-8 1
E 9-14 2
q 15 - 24 3
< 25 - 30 5
Section Question Nos. Marks per question
A 1-8 1
B 9-14 2
C 15 - 24 3
D 25 - 30 5

7. U AR 28 ¥ 30 H A< fased § |

There are internal choices in Q. No. 28 to 30.

Qs - A
Section - A
T gy el & =M fafen |
Name two synthetic indicators. 1

AT & TR T YU AT WY A HA At T w1 AW fafan

Write the name of the structure which provides nutrition to the

embryo from mother's blood. 1
3y Tad ARO | 3Tad W& 9gl o1 @ fafan |
Give the number of periods and groups in Modern Periodic Table. 1

forgent pH 34k BT —

() o 3Tl ST ST ?

(i) ST TH el Hig H W ?
Which one has high pH value —

(i) Blood or distilled water ?
1 1

2+§=1

W foega ofwel § afquro @ s=ma & faw - < gEwtEr swa

=gy ?

What two precautions should be taken to avoid the overloading of
1 1

domestic electric circuits ? 9 + 9 = 1

(ii) Gastric juice or lemon juice ?
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10.

11.

12.

13.

14.

3

Sl o STAAHONE o TR0 Hq 1§ 2
What are the renewable and non-renewable sources of energy ?
1 1

§+§=1

T e foga 9Rug § 5 TR 1 | 8 | 100 W (220 V) & AfueRad
Sedl it S 1 B ST 39 uRdey § R ST o Weh 2

A domestic electric circuit has a fuse of 5A. What is the maximum
number of 100 W ( 220 V ) bulbs that can be safely used in the
circuit ? 1
AT oW 1 o Al S8 RO 98 AT Blehd gl 1 FHENSA T ddl
8, ¥ et © 7

What is the ability of the eye lens to adjust its focal length called ? 1

Qug - o
Section - B

Y ol Toh IaelU od U WA sifufRan wa fadise stfufsran fafaa |
Write combination reaction and decomposition reaction with one
example each. 1+1=2

(31) TR 1 IeH HE o g deal o 99 FdEy |

() SIR-el Rl wed § ?

(@ State the names of two elements that produce nuclear energy.

(b) What are high and low tides ? 1+1=2

(31) e W gF § T At wH-d fafeo ¥ grem yor Rt § 2

() ferqisteer wifies 9 &l 27987 HI & feTdised &9 & SEHTA o
qIE ?

(@ Ozone layer provides protection from which radiation coming
from the sun ?

(b) What are the advantages of using disposable paper cups instead

of disposable plastic cups ? 1+41=2
TRt wfaq ( TRiS ) % IS H hH-U FRE TeF § 2 HHRT |
What factors could lead to the rise of a new species ? Explain. 2

fopdlt foe[d ocal o 9 § ¥ 0-25 THIRR faga um1 20 fie 9% yanfed gt © |
forgra aftaer 9 genfea fogga saw o1 aftmmo Fa wifse |

A current of 0-25 ampere is flowing through a filament of an electric
bulb for 20 min. Find the amount of electric charge that flows through

the circuit. 2
g | fe fAufor o1 oM fod sAEe |
Draw a linear diagram of sex determination in human beings. 2
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15.

16.

17.

18.

19.

20.

21.

4
Qs -9
Section - C

(31) 3THINE | 37T 1 &1 hE © 2
(&) Tordrst qo foramarst 9o § oo SR § 2
(a) What is the function of acid in stomach ?

(b) What is the difference between autotrophic nutrition and
heterotrophic nutrition ? 1+2=3

(31) dfent ustta d@fy @1 Amifea fog sFET |

(9) wrgefi ® T g g & foaw dfyer qon smia feafafy &t qom
T |

(@) Draw a labelled diagram of neuromuscular junction.

(b) Compare nervous and hormonal mechanisms for control and
co-ordination in animals. 1+2=3

AUMHAT CuO + Hy — Cu + H,0  fohdt waref o1 afierdiento wdl fohdt el

T AT B W § 7 39 YR i SR 1 T 37 IS i |

In the reaction CuO + Hy — Cu + H 5O which substance gets

oxidised and which gets reduced ?

Give one more example of such type of reaction. 2+1=3

(1) et o sk aRifea ifsg |

(9) Teda Te 39cl 90 § foerd sy |

(W) arfae e ot wfdfera & @ e=R T 2

(@) Define a spherical mirror.

(b) Distinguish between a cancave mirror and a convex mirror.

(c) What is the difference between a real image and a virtual image ?
1+1+1=3

(37) foa IR AHa § 9R siq st ufoe ot fafa gofzd |

() dFa H $gfor 9 arEdfeds g 1 % fafaw |

(@ Draw a diagram indicating the position of four endocrine glands
in human being.

(b) Write the function of insulin and thyroxine hormones in human
being. 1+2=3

YA YT T Ta&To o1 § 2 39 980 B 1 0 FRO T ? HiA h TH FoA

BRI o YoMl o faeraor &1 ot AT |

What is dispersion of white light ? What is the cause of such
dispersion ? Draw a diagram to show the dispersion of white light by

a glass prism. 1+1+1=3
frefafaa w dfaa fewfoat fafe -
(31) GaA (&) YAEgHaH (") Yo |

Write short notes on the following :
(@) Fragmentation (b) Regeneration (c¢) Budding. 1 +1+1=3

S—O07-Science



22.

23.

24.

25.

26.

27.

5

e gRoft # foReht etmad § 9 @ ¥ M W fefatea § @ afted\ g e ?
(i) TH] AR (i) efeerh 00

(il) FATSThAl SAFAI I H&AT |

What changes occur in the following on going from left to right in a
period of the Periodic Table ?

(i) Atomic size (ii) Metallic character

(iii) Number of valence electrons. 1+41+1=3

fSieh ot T o1t 9 fofam W X ot § —

@) ¥ X &AW SN

(i) ATYFsHa o1 FHR fafay |

(i) T X & 9EAH HY R ?

Zinc produces gas X on reaction with sulphuric acid —

(i) Name the gas X.

(ii) Write the equation of the reaction.

(i) How will you identify gas X ? 1+1+1=3
& YIS T W hig § qA qA: TAT H A T, A YR & AU <9 ared
forst o1 AHifRd ST |

Draw a labelled diagram to show the refraction of light when light
travels from air into glass and comes back into air. 3

Qs - g
Section - D
(1) R Heeehl sl GHEART |
(&) HEeHl o SEER 1 9 Hifey |
(@) Describe the components of an ecosystem.
(b) Explain stakeholders of resources. 3+2=5

(31) HW & Y T DE-T 91g 59 Tae § qE Sl © 2

(9) Mg d Cl T & SoiaRieh foramd ST |

(§) Mg a Cl % H&A Sl o T § MgCl o, AT 1 a1 S8 |

(@) Which metal exists in liquid state at room temperature ?

(b) Give the electronic configuration of Mg and CI atoms.

(c) Show the formation of MgCl, by the transfer of electrons in
between Mg and Cl. 1+2+2=5

(31) Fhid &5 H T g T URETE] =efeh T A aled set shi fewn & fag
FRATHT 1 -8 1 oM fafe |

(a) fowdt faga armEmet afEfasr & fit td 3uF =/l IR g &3
Y@l =l YeiRid i % forg fos sAm |

(9) 9R gl & M fafau Sei fage uReR! aes o1 S9% 9 Te6
&5 1 ITAT FA T

(@ Write Fleming's left-hand rule for the direction of force on a
current carrying conductor placed in a magnetic field.

(b) Draw a diagram to show lines of magnetic field inside and around
a current carrying solenoid.

(c) Write the names of four devices where current carrying
conductor is used along with magnetic fields. 2+1+2=5
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28. (31) HMA T &l SIS &1 AMiThd o IAET |

()
(%)

T H TreX URE=R0 &l AT SIS | I8 &4l a9 & ?
TR IR H EIHNIfoF 1 Al & 1 9oy 81 Hehd & ?
3AYAT

(31) HME i AR AT 1 AMifhd o IR |

(F)
()
(a)
(b)
(c)
(a)
(b)

(c)
29. (3)

(<)

(1)

(<)

(a)

THR IR H 71 % W= I GHAEY | A€ GhH FEl e 2
JIe % 9= | R i e § 2
Draw a labelled diagram of sectional view of the human heart.

Describe double circulation in human beings. Why is it
necessary ?

What would be the consequences of deficiency of haemoglobin in

our body ? 2+42+1=5
OR

Draw a labelled diagram of human alimentary canal.

Explain the digestion of fat in our body. Where does this process
take place ?

What is the role of saliva in the digestion of food ? 2 + 2 + 1 =5

HF W HE § 99 W TF Ao o1 giquy AR o § 2 gfadrasmar &
TR TS 91 s SI A fAf@y |

f‘aﬁmwﬁwﬁwuﬁﬁaqﬁwﬁaw IRT T T FAEY |
s

+II_|=_

6V
AT

S o 99 fEm # wed wifve | for@ seel § ) S et & 6w

T AT qAT T HifeC foh 7 T4 1 fogga oo § =N 9 S g |

foret fogra s&at o oifyshad a9 X & faT 840 a1 & W § el

Uy gt § | foga S| &t dieear 220 v ® | forga omo qen wfady &

UM YRenfad g |

On which factors does the resistance of a conductor depend ?
Define resistivity and state its SI unit.
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(b) Give the value of total resistance and total current flowing in the
. o 1 1
given circuit. 2 9 t 2 9 = 5
NN
2Q 2Q

2 Q 2Q
NN

+ | —
Ial
6V
OR
(@ State Joule's law of heating. Name two gases which are filled in
electric bulbs and explain why these gases are filled in electric
bulbs.
(b) An electric iron consumes energy at a rate of 840 W, when
heating is at the maximum rate. The voltage of electric source is
220 V. Calculate the value of current and the resistance.
1 1

2§+2§=5
30. (1) FHeMdE 4ot & o= 7o fafen |

(9) frafafed § 9 Teshe T Uoehlsd ol U89 hifay :

) Co,Hg M CgH,
(i) C5Hg (ivv CgHg.
() TfA * selae fog = IRy |
YA

(31) FEA & T fafire @gm fafae e FR0 98 9€t 9= ¥ Aifite o
® | St MRl H smey @ yhfa fafaw |

(9) TIT & q SAOR He= & g fafaw |

(¥) TIF i soraeA fog W= SR |

(@) Write three properties of homologous series.

(b) Identify alkene and alkyne from the following :

i) CoyHg (i) CgHy
(c) Draw electron dot structure of ethene. 3+1+1=5
OR

(@ Write two features of carbon which lead to form huge number of
compounds. Write the nature of bond in organic compounds.

(b) Give the formula of two higher homologues of ethane.
(c) Draw the electron dot structure of ethane. 3+1+1=3
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